# TEMPLETON CRICKET CLUB INC.

ANNUAL REPORT
1990/91

# TEMPLETON CRICKET CLUB INCORPORATED

Affiliated: Ringwood and District Cricket Association Inc.

Club Colours: Red and Blue

Club Telephone Number: 800 1110

PRESIDENT: PAUL OWEN

VICE PRESIDENT: BARRY McCLURE

( Junior Administrator )

REGISTRATION SECRETARY: CHRIS HARPER

TREASURER: NEVILLE WALKER

SOCIAL SECRETARY: PETER ROGERS

MARKETING OFFICER: MURRAY PARKER

PROPERTY STEWARD: LAURIE JONES

COMMITTEE MEMBERS: RON LOVETT

GRAHAM BROOKMAN

HONORARY GENERAL SECRETARY: NORM BARNFIELD

11 Dewsbury Court

Wantirna 3152

Phone 801 6075

Players Representative: MARTIN WOOD

Delegates to R.D.C.A: Senior - NORM BARNFIELD

IAN WOOD

Junior - BARRY McCLURE

Templeton Reserve Committee

of Management Representatives: NORM BARNFIELD

PAUL OWEN

Club Coach:

PIETER BERGSHOEFF

Senior Selection Committee:

NORM BARNFIELD (Chairman)

PIETER BERGSHOEFF

MURRAY PARKER

BRETT KEYS

JOHN NIGHTINGALE

NEVILLE WALKER

Junior Team Managers:

U16/1 HOWARD NORTON

U16/3 NEVILLE WALKER NORM BARNFIELD

U14/1 GARY LEAR

U14/3 TERRY BUCHANAN

U12/1 JOHN CASSIDY

U12/4 BARRY McCLURE

#### **SPONSORS**

BOOCOCK'S DISCOUNT MEATS Studfield Shopping Centre 225 Stud Road Studfield 3152 Phone: 801 2762

STUDFIELD RITEWAY LICENSED SUPERMARKET 195 Stud Road Wantirna South 3152 Phone: 801 2152

THE KNOX GOURMET
Takeaway Chicken & Bread Shop
386 Burwood Highway
Wantirna South 3152
Phone: 801 9220

PHOTO EXPRESS KNOXFIELD Shop 1036 Knox City Shopping Centre Wantirna South 3152 Phone: 801 5764

McDONALD'S FAMILY RESTAURANT Wantirna 3152

CADBURY SCHWEPPES (Mr Howard Norton)

SUPER K-MART (Mr David Snell)

FAIRY MOUNTAIN CHINESE RESTAURANT Licensed and B.Y.O. Cnr. Mt Dandenong Tourist & Olinda - Monbulk Roads Olinda 3788 Phone: 751 2288

WAVERLEY TROPHIES & ENGRAVING 444 Burwood Highway Wantirna South 3152 Phone: 801 1551

In these hard economic times, the Club experienced a great deal of difficulty in attracting large sponsorship arrangements during 1990/91. Despite this situation, the companies listed above were very generous in their support of Templeton Cricket Club Incorporated. The very practical donation of goods from all companies assisted in the fundraising activities.

Many other members made donations to the Club. Some of these members include Murray Parker, Dean Morrison, Howard Norton, Brian Moody and David Snell, just to name a few. A special mention to Ron Lovett for assisting in the improvement of facilities within the clubrooms - the mezzanine floor that will be installed in August 1991 will be as a direct result of Ron's dedication to the Club. I am sure that many members gave freely towards the benefit of the Club - every little bit helps and it is appreciated and desperately needed.

THE CLUB WISHES TO THANK OUR SPONSORS AND HOPE THAT THEIR GENEROSITY CONTINUES IN THE FUTURE.

CLUB MEMBERS ARE URGED TO SUPPORT THE SPONSORS IN RETURN.

#### PRESIDENT'S REPORT

Welcome to the Annual Report of Templeton Cricket Club Inc. for season 1990/91. This document provides you with a summary of events both on and off the field last season, as well as the performances of each individual who represented the Club. A great deal of work has gone into compiling the Annual Report and I hope that it gives you a lot of enjoyable reading.

Season 1990/91 saw the Club experience some highs and lows. It is my perception that, as a Club, we have emerged relatively unscathed and are in a position to go onto a very bright and successful future. I will comment on some of our experiences as it is necessary for us to learn from our good work, as well as our mistakes.

A major concern to the Club in previous seasons was the lack of suitable practice facilities. With the endorsement of the Templeton Committee of Management and financial assistance from Knox Council and the Bayswater/Wantirna Ward Councillors, a project to upgrade and duplicate the practice wickets at Templeton Reserve was completed. These facilities are now the equal of, or better than, any other club in the R.D.C.A. My sincere thanks go to:

- \* Norm Barnfield and Murray Parker who assisted me in liaising with Knox Council;
- \* Bruce Macartney, Community Facilities Manager, City of Knox, for his assistance, patience and interest in our Club;
- \* Staff of Knox Council and the contractors who worked on the project;
- \* By no means least, the Bayswater/Wantirna Ward Councillors Joan Schulz, Marie Wallace, Mary Radisich and later Ken McBride. Without their help and financial assistance, the project could not have proceeded.

The fundraising activities of the Club seemed to follow our fortunes on the playing field, a successful highlight being the Chocolate Drive in January/February. This raised over \$1,400.00 and ensured that the season wasn't a financial disaster. The efforts of Murray Parker in co-ordinating the Chocolate Drive deserve special mention. The result is a credit to ALL Club members and thank you for your support.

Sponsorship from local businesses did not necessarily come in the form of monetary donations, but rather the very practical donation of goods. A list of our sponsors and a special comment has been made elsewhere in the Annual Report, so all I will say is thank you. Some Club members were able to make monetary donations or supply some goods and these were gratefully accepted.

The Club is continually trying to improve its facilities, particularly the clubrooms. To this end, a mezzanine floor will shortly be installed in the Committee Room so as to allow for

storage of both Wantirna Football Club and Templeton Cricket Club equipment twelve months of the year. The enormous support from Ron Lovett in this reguard is acknowledged. Our attention will turn to matters such as tables and chairs in the immediate future.

All junior sides represented the Club with honour and distinction during the season. Their performances were of such high standard that the Club won the Clive Fairbairn Shield as the R.D.C.A. Club Champion. Additionally, U14/3 won our fourth junior, and eighth Club, premiership and the Club was represented in Grand Finals at each age level. Four players won R.D.C.A. competition averages, with Stuart Elkins winning both batting and bowling awards in U14/3. Many players also participated in R.D.C.A. Representative matches. This is a fantastic result for the Club, particularly because some of the teams had less than eleven players for much of the season. The participation of parents and families also helped the boys during the season and is greatly appreciated by the Club. Thanks to Barry McClure, the Team Managers and other officials and helpers for your time and efforts.

Some of the negative aspects of last season need to be addressed. Probably the most obvious concern of the Club was the lack of support, particularly by senior players, for social functions. Those who attended enjoyed themselves, but the Committee struggled to find the right types of function to attract strong support. A concerted effort will need to be made to involve junior players and their families in Club activities also. These social functions are designed to assist in the Club's fundraising efforts. Accordingly, if the functions are not supported, annual subscriptions will inevitably rise.

The senior teams did not enjoy as much on-field success compared to previous seasons. The loss of 25 senior players at the start of the season did not help the cause, but some enthusiastic younger players joined the Club and many junior players willingly offered their services at senior level. The high number of changes forced upon the Selection Committee every match did little to develop team spirit or generate stability throughout all teams. An amazing statistic from the Annual Report is that 82 players represented the Club in five senior teams. A genuine committment from all senior players to make themselves available for the season should ensure that teams are more settled and that an extra senior team can be fielded. Greater concentration at training to perfect our skills will see us take that vital catch or not throw away our wicket after doing the initial hard work.

The future of our Club will rely heavily on junior players progressing to our senior teams. In order to make this transition as easy as possible, senior players need to take a more active role in the training and development of juniors at all age groups. Much has been spoken on this topic, but the

#### GENERAL SECRETARY'S REPORT

It gives me great pleasure to present the Templeton Cricket Club Inc. Annual Report and Financial Statement, at this our Eighth Annual General Meeting.

Although the junior aspect of our Club was extremely successful, a highlight Templeton being named R.D.C.A. Junior Club Champion, our senior performances were somewhat disappointing.

I am sure the senior competitiveness will be subject of comment from Pieter Bergshoeff and Paul Owen, so I will concerntrate on the administrative performance during season 1990/91.

Financially, the Club completed the year in a reasonable position, especially since the practice wickets were not budgeted for, but with the financial assistance of Ward Councillors, Templeton Cricket Club has training facilities that are comparable to any club in the R.D.C.A..

Many long hours have been taken at the Executive level, in an attempt to involve as many members as possible in Club responsibilities, without the extra burden of being an Executive Member. I hope we have found a solution to this problem. A decision on this subject will be made at our Annual General Meeting.

Several members of the present Committee have indicated that they will not be seeking a further term next season, this leaves opportunities for members who have a desire to ensure Templeton Cricket Club will continue for many years, to put their name forward for a Committee position.

Season 1991/92 puts Templeton Cricket Club Inc. at the crossroads, we still do not know if we will be graded in the "A" or "B" Competition, but whatever Grade we field senior teams in, a genuine effort by all concerned, parents, players and supporters is necessary to enable our Club to be progressive and successful.

My thanks to the members of the General Committee for their efforts during the past year, also to my family for their patience and support.

Yours in cricket,

Norm Barnfield

#### TREASURER'S REPORT

Attached for your approval is the Income and Expenditure Statement of Templeton Cricket Club Inc. as at 30 April 1991.

Our major project for the year was the practice wicket facilities which required a substantial amount of funds from the Club. Total costs of the nets was \$7,934.00 (with Knox Council paying an additional \$1,128.60 directly) of which the Club contributed \$2,360.00.

As a consequence, funds on hand at 30 April 1991 decreased by \$1,246.95 as compared to the end of last season.

The balance on hand at the end of the season was \$4,972.91. The Social Committee again have made a significant contribution with a transfer for the season to the Club account of \$5,500.00. In addition, I would like to acknowledge donations totalling \$255.00 from various families within the Club.

The coming season will again test our resources and we will rely upon all members to support the Club both socially and on the playing field.

NEVILLE K WALKER

TREASURER

# TEMPLETON CRICKET CLUB INC.

# INCOME & EXPENDITURE STATEMENT - 30TH APRIL 1991.

INCOME	
OPENING BALANCE SPONSORSHIP SOCIAL COMMITTEE	6,219.86 100.00 5,500.00
SENIOR FEES JUNIOR FEES SOCIAL MEMBERSHIP	5,422.00 2,690.00 20.00
DONATIONS SALE OF EQUIPMENT, CAPS ETC.	255.00 236.00
INTEREST RECEIVED CITY OF KNOX - NETS SUNDRY RECEIPTS	360.60 5,574.00 112.20
	\$26,489.66
EXPENDITURE	
RDCA - COMPUTER & FINES	501.50 700.00
- AFFILIATION & REGISTRATION - VOTE COUNT, RULE BOOKS ETC. GROUND RENTALS (TEMPLETON, MILPERA	210.00
& HIGH SCHOOL) EQUIPMENT & CAPS	2,847.00 2,283.50
BALLS UMPIRES	1,977.60 1,087.50
COACHING FEES	1,000.00
TROPHIES PRACTICE NETS	734.50 7,934.00
INSURANCE - PUBLIC LIABILITY & PLAYER LICENCE FEE	673.03 231.00
ADVANCE TO SOCIAL ACCOUNT TELEPHONE	200.00 252.68
CLEANING SUPPLIES BANK CHARGES	78.35 70.65
SOCIAL & OTHER SUNDRY EXPENSES	157.56
HONORARIUM POSTAGE & A.G.M. EXPENSES	200.00 132.36
MAN OF MATCH GLASSES CLOSING BALANCE	245.52 4,972.91
	\$26,489.66

N WALKER HONORARY TREASURER

#### SOCIAL SECRETARY'S REPORT

This season a new plan of attack was organised for both social and fundraising within the Club.

A social calendar was drawn up listing a variety of functions, on average, every three or four weeks. Quite a number of proposed functions were cancelled at the last minute due to lack of interest by Club members. Other functions were followed through, in some cases with only a handful of members in attendance, each being considered a great social night.

The Games Show Night had a small group who were entertained throughout the evening with the climax being a Red Faces Act by John Nightingale and (Ms) Mick Crompton. The attendance at the Christmas Breakup was more encouraging, which lead us to believe the outlook for the remainder of the season might be more fruitful. Unfortunately more functions were cancelled. One that was not, and was a great success was the Trivia Night. Five tables of trivia buffs, well four and one table of hopefuls led by Cottsie, had a riotous time.

During the season we also ran two Spit Roast nights, both of which were very popular and could be used as a basis for future events.

The final functions were both the Senior and Junior Presentation Nights. The Junior night was conducted at the pavillion and was successfully run by Barry McClure. The Senior Presentation Night, with about 80 people in attendance, was held at The Fairy Mountain Chinese Restaurant in Olinda.

On the fundraising side, two major ventures were attempted. The Cookie Drive was poorly supported and just broke even, the Chocolate Bar Drive was more successful but only through the concerted efforts of the Committee. Obviously other funds came from canteen meals, confectionary and bar sales.

There are a number of people who need special mention for their efforts throughout the year in either social or fundraising committments. Murray Parker worked hard in both areas, as did Paul Owen (including Senior Presentation Night) and Graham Brookman. Others included Ron Lovett, Norm Barnfield and Neville Walker. A special thanks to Paul Denton for his work behind the bar (including keeping it well stocked) and for keeping the books for me. Also thanks to the people who, at various times, picked up trays of meat, provided salads, collected bread, sold raffle tickets, etc. It all helps in the end.

The Social Club Financial Statement is submitted hereunder.

Peter Rogers

# SOCIAL COMMITTEE FINANCIAL STATEMENT1990/91

# INCOME

Opening Balance	\$ 407.94
Spit Roasts (2)	869.00
Games Night	51.40
Christmas Function	232.00
Trivia Night	150.00
Presentation Night	1459.00
Canteen & Bar	8125.60
Raffles	579.00
Bank Interest	45.81
Cookie Drive	1097.75
End of Season Trip	1730.00
Chocolate Drive	3287.00
Video Machines	120.00
Night Watch Club	245.00
	=======
	\$18399.50
	=======

# EXPENDITURE

Spit Roasts (2)	\$ 380.10
Games Night	23.22
Christmas Function	229.16
Trivia Night	35.68
Junior Sausage Sizzle	27.00
Presentation Night	1414.00
Canteen & Bar	5410.19
Advance - Committee	5500.00
Bank Fees	22.38
Sundry Expenses	50.35
End Season Trip	1730.00
Chocolate Drive	2100.00
Night Watch Club	45.00
Nomination Indoor Competition	100.00
Cookie Drive	852.55
Balance Account	479.87
	=======
	\$18399.50
	========

#### PROPERTY STEWARD'S REPORT

The increased number of training nets has resulted in everyone receiving more time for batting and bowling. However, this has also meant that additional gear had to be made available. The introduction of the first training kit has saved both wear and tear to match gear along with reduced expenditure for equipment. Given the numbers that are expected to regularly attend training, an extra training kit may need to be supplied to cover this situation.

The equipment has generally been looked after with the usual bat, ball and miscellaneous item going walkabout.

Cricket balls don't come cheap (\$20.00 each). It is far better to let match balls "rest" in the training bag rather than match bags. This way more people will get a chance to practice bowling with a decent ball.

The synthetic pitches have proved very successful for playing on. However, given the state of deterioration of both Templeton and Milpera centre wickets, the Club will have to budget for replacement in the near future.

Many thanks must go to David Snell for his acquisition of a mixed bag of equipment resulting in a great saving to the Club. Also thanks go to Des McDougall and Graham Brookman for their procurement of witches hats. These guys help the Club reduce the overall expenditure on equipment. If members can help out in any way then the Club must benefit and the Executive would be pleased to hear from you.

LAURIE JONES

IAN WOOD

Property Steward

Gear Man

### COACH'S REPORT

Regrettably, season 1990/91 saw Templeton yet again struggle in its endeavours to become a successful A Grade club. This can be attributed to a number of reasons, principally being:

- \* The lack of quality seasoned players throughout the first four senior teams. Whilst it is perceived that the Club has many promising and talented junior players within its ranks, these players due to circumstances have generally been placed into positions which they cannot, nor can they be expected to, fulfill. That is to compete successfully week in week out against more seasoned competitors. This is not to say that in the long term that these junior players will not become solid performers, around which the Club can formulate more competitive performances.
- \* The low level of commitment to succeed by virtually all players. There would be very few players within the senior section of the Club who can honestly state that they fully committed themselves to both training and, to some extent, their Saturday performances. Whilst it is acknowledged that our training facilities could be classed as inadequate prior to Christmas, they are now considered to be the equal, or superior to, any other club within the R.D.C.A.. Far too often individuals were all too eager to profer excuses for non attendance at training or to make themselves unavailable for particular matches which in turn affected not only their own performances but the Club's performances overall.

It is my view that the Club is at the crossroads and needs to address some pertinent aspects urgently. It should be remembered by all that the "CLUB" is not a small group of people who hold official titles but every member who subscribes to the Club.

We all need to reappraise our commitment to make Templeton not only successful but totally unified where EVERY member seeks to put in effort of a tangible nature and not just making grandiose statements without effectively supporting these ideals in order for the Club to become successful both on and off the field. It is up to all members to ensure the Club's off-field success is achieved and make the Club more unified.

I have no doubt that if the Club is to become successful on the field in the short term, then we need to attract some quality seasoned players to our ranks and not see a continuation of our more seasoned players ceasing to have an active playing role.

The senior players at the Club have no doubt enjoyed their cricketing successes over many years and it is my tenet that we all now need to put something back into the game by ensuring that the vast wealth of junior talent possessed by Templeton is appropriately nurtured, thus ensuring future on-field success for the CLUB.

In closing, I thank Templeton Cricket Club for affording me the honour of being its coach for the past two seasons and, whilst not seeking reappointment to this position next season, I sincerely look forward to assisting with the development of its many talented youthful players.

M P BERGSHOEFF

Club Coach Season 1990/91

#### Al GRADE CAPTAIN'S REPORT

Whilst not competing on a totally successful basis during the season, the continuation of providing our promising talented junior players with senior grade experience hopefully will assist in making our senior teams more successful in the not to distant future.

The performances of players such as Chris Vorwerk, Jason Disney, Robert Shakes, Simon Graham and Jason Denton were most pleasing on occasions throughout the season. It is trusted that these individuals will now follow in the footsteps of Martin Wood and become more consistent performers in the immediate future. With the influx of some quality, seasoned players to the Club we have the nucleus of players who will benefit from having more senior players surrounding them and thus releasing some of the pressure that has been placed upon them.

Whilst the side can be termed as uncompetitive in the context of the whole season, it must be said that very rarely did the players who fulfilled positions with the First XI not compete to their utmost. On a number of occasions throughout the year our inability to play competitively during a whole game was the cause of our losses. This can be directly attributed to a lack of experience and a lack of ability in some instances.

To all who played in the First XI during season 1990/91, together with those who assisted with afternoon teas, etc., I sincerely thank you for your efforts under, what at times, were trying circumstances.

M P BERGSHOEFF

Al Grade Captain Season 1990/91

#### A1 GRADE TEAM RESULTS

Captain P Bergshoeff Vice-Captain P Rogers

# Summary of Matches:

v.	Chirnside Park	10/108	Templeton	10/116 2/18	WON
v.	Westwood	7/249	Templeton	10/150 0/14	LOST
v.	Kilsyth	7/223	Templeton	5/75	DRAWN
v.	Sth Ringwood	7/249 3/101	Templeton	10/160	LOST
v.	Wantirna	8/246	Templeton	10/93 6/114	LOST
٧.	Mt Evelyn	10/238	Templeton	10/98 4/64	LOST
٧.	Wonga Park	7/292 3/90	Templeton	10/149	LOST
v.	Montrose	6/132	Templeton	10/83 3/88	LOST
v.	Scoresby	8/143	Templeton	7/172	WON
٧.	Wantirna Sth	7/380	Templeton	10/144	LOST
v.	Nth Ringwood	10/176 2/43	Templeton	10/71	LOST

Games Played: 11 Won: 2 Lost: 8 Drawn: 1

Players reaching 50 or over in an innings: Nil

Players taking 5 or more wickets in an innings: J Disney 6/60 v. Nth Ringwood M Wood 5/30 v. Chirnside Park

Highest Team Total: 7/172 v. Scoresby

Lowest Team Total: 10/71 v. Nth Ringwood

Most Runs: P Owen 208

Most Wickets: P Bergshoeff 24

Highest Individual Score: D Parker 45 v Sth Ringwood

Most Wickets In An Innings: J Disney 6/60 v Nth Ringwood

Fielding Award: \*\*\* M Wood 9 votes \*\*\*

P Owen 9 votes P Rogers 9 votes

\*\*\* Winner on countback.

Votes In R.D.C.A. Best And Fairest Award:

M Wood 6 votes
P Bergshoeff 4 votes
J Disney 3 votes
P Owen 2 votes
J Denton 2 votes
P Rogers 1 vote

# Wicket Partnerships

1st	G	Peters	-	S	Graham	52	v	Scoresby
2nd	P	Owen	-	P	Rogers	39	v	Sth Ringwood
3rd	P	Owen	-	A	Carbery	64	v	Montrose
4th	D	Parker	-	W	Peters	47	v	Sth Ringwood
5th	W	Peters	-	J	Disney	55	v	Wantirna
6th	С	Vorwerk	-	J	Denton	26	V	Nth Ringwood
7th	J	Denton	_	P	Bergshoeff	53	v	Westwood
8th	J	Denton	-	s	Graham	36	V	Wonga Park
9th	С	Vorwerk	_	M	Wood	19	v	Wantirna
10th	P	Bergshoeff	_	D	Morrison	24	v	Mt Evelyn

# Individual Batting Performances

			Highest		
Batsman	Innings	Not Outs	Score	Runs	Average
P Owen	12	2	41	208	20.8
C Vorwerk×	9	4	27*	98	19.6
A Carbery×	3	0	28	57	19.0
B McClure	3	1	22	32	16.0
D Parker/	4	0	45	64	16.0
S Graham 🔏	10	1	26	140	15.55
W Peters	9	1	41	130	14.0
P Bergshoeff	9	1	33	94	11.9
D Morrison ~	6	4	7	22	11.0
G Peters /	11	1	36	106	10.6
J Denton /	13	3	37*	104	10.4
R Shakes 🥖	6	0	20	63	10.5
J Disney	8	1	32*	83	10.37
P Rogers	11	0	24	112	10.17
S Denton⊀	3	0	12	23	7.67
M Wood	11	1	14	56	5.6
P Baum ×	2	1	3*	5	5.0
H Singh×	3	0	9	12	4.0
B McAndrew×	4	0	6	9	2.25
N Barnfield /	1.	0	2	2	2.0
J Mullen /	-	_	_	-	_

# Individual Bowling Performances

Bowler	Overs	Runs	Wickets	Average
P Bergshoeff	221	594	24	24.75
M Wood	220.3	626	23	27.22
S Graham	130.4	473	16	29.56
J Disney	89	283	10	28.30
P Rogers	38	141	7	20.14
D Morrison	76	208	4	52.00
S Denton	10	37	2	18.50
N Barnfield	7	7	1	7.00
C Vorwerk	3	8	1	8.00
B McClure	2	15	1	15.00
G Peters	8	35	1	35.00
J Denton	1	3	0	0.00
A Carbery	1	15	0	0.00
R Shakes	2	18	0	0.00
H Singh	5	21	0	0.00
J Mullen	12	22	0	0.00
P Owen	2	24	0 .	0.00

#### A2 GRADE CAPTAIN'S REPORT

1990/91 season was a difficult one for Templeton Cricket Club as a whole. This was especially borne out in the Seconds.

It was not possible to have a settled side throughout the season thus it was not possible to build up the team spirit and comradeship that leads to success.

However the players who passed through the team at all times tried their hardest to bring success so it was not the lack of endeavour why we failed.

It is believed that the starting point of a settled side is to have settled leadership. This unfortunately could not be maintained throughout the season. The constant change in this regard does not help. It is felt that next season captains should be selected for the whole season and only in extreme circumstances should they be promoted.

It seems as only negatives came out of the season for the Seconds. Nothing could be further from the truth.

One only has to look at the ages of those who represented the team during the season to realise that the majority of the players were young. It will also be noted that these younger players performed extremely well and will, I'm sure, see the Club back where it belongs in the future - ON TOP.

There is one thing that I have learnt over a number of years playing cricket - YOU MUST WANT TO WIN. In this regard, you practice hard and you play hard.

Success will only come the hard way - there is no easy way!!!

To all my team mates during the year - thank you. Although success was not there, I enjoyed the friendship that developed between us all.

BARRY McCLURE

Acting Captain

#### A2 GRADE TEAM RESULTS

Captain S Meehan, N Barnfield, M Parker, B McClure

# Summary of Matches:

٧.	Chirnside Park	7/116	Templeton	10/96	LOST
٧.	Westwood	10/51 10/82	Templeton	7/151	WON
v.	Kilsyth	3/92	Templeton	10/179	DRAWN
v.	Sth Ringwood	5/254	Templeton	10/130	LOST
v.	Wantirna	4/83	Templeton	10/77	LOST
		6/144	-	9/151	
٧.	Mt Evelyn	9/328	Templeton	10/287	LOST
v.	Wonga Park	9/203	Templeton	10/108	LOST
	-	1/114			
٧.	Montrose	10/120	Templeton	10/66	LOST
v.	Scoresby	7/167	Templeton	5/145	LOST
v.	Wantirna Sth	7/312	Templeton	10/189	LOST
٧.	Nth Ringwood	8/217	Templeton	10/99	LOST
				7/147	

Games Played: 11 Won: 1 Lost: 9 Drawn: 1

Players reaching 50 or over in an innings:

S	Denton	66*	v.	Mt Evelyn
R	Shakes	66	v.	Mt Evelyn
W	Peters	62	v.	Nth Ringwood
Р	Rogers	53	ν.	Wantirna Sth

Players taking 5 or more wickets in an innings:

J Mullen 6/23 v. Westwood

5/25 v. Chirnside 5/30 v. Westwood v. Chirnside Park J Disney

S Graham

Highest Team Total: 10/287 v. Mt Evelyn

Lowest Team Total: 10/66 v. Montrose

Most Runs: B McClure 165

N Barnfield / J Mullen 14 Most Wickets:

Highest Individual Score: S Denton 66\* v Mt Evelyn R Shakes 66 v Mt Evelyn

Most Wickets In An Innings: J Mullen 6/23 v Westwood

Fielding Award:

\*\*\* B Keys 6 votes \*\*\*
B McClure 6 votes
B McAndrew 6 votes

P Green 6 votes

\*\*\* Winner on countback.

# Wicket Partnerships

1st	R	Shakes	-	Р	Green	67	V	Mt Evelyn
2nd	В	McAndrew	-	P	Rogers	74	٧	Wantirna Sth
3rd	W	Peters	-	P	Rogers	63	v	Scoresby
4th	Р	Rogers	-	В	McAndrew	69	V	Scoresby
5th	A	Carbery	-	S	Denton	36	V	Mt Evelyn
6th	ន	Denton	-	В	McClure	6 4	V	Wantirna
7th	M	Parker	-	В	McClure	37	V	Sth Ringwood
8th	G	Leonard	-	В	McClure	4 4	V	Kilsyth
9th	S	Denton		L	Gray	39	V	Mt Evelyn
10th	A	Moore	_	J	Mullen	29	v	Chirnside Park

			Highest	_	
Batsman	Innings	Not Outs	Score	Runs	Average
P Rogers	3	0	53	115	38.33
R Shakes	3	0	66	86	28.67
B McClure	9	3	41*	165	27.5
B McAndrew	6	1	46	162	27.0
A Carbery	4	0	33	107	26.75
A Moore	1	0	25	25	25.0
W Peters	5	0	62	109	21.8
S Graham	1	0	18	18	18.0
M Maynard	6	1	31	89	17.8
D Morrison	3	2	15	17	17.0
S Denton	10	1	66*	145	16.11
J Disney	4	0	25	56	14.0
R Jones	1	0	13	13	13.0
G Peters	3	0	16	39	13.0
J Mullen	- 6	4	13	24	12.0
A Bowes	4	1	11	34	11.33
G Leonard	5	0	19	50	10.0
M Parker	7	0	37	69	9.86
D Parker	10	0	37	97	9.7
G Grace	4	0	17	37	9.25
P Green	8	0	36	71	8.88
C Vorwerk	4	0	14	35	8.75
L Gray	9	3	17	50	8.33
S Meehan	5	0	14	40	8.0
B Keys	6	0	15	43	7.17
J Morgan	4	1	7	19	6.33
N Barnfield	8	0	8	44	5.5
M Crompton	1	0	5	5	5.0
A Watson	1	0	4	4	4.0
A McLean	2	0	1	1	0.5
C Harper	1	1	0	0	0.0
H Singh	1	0	0	0	0.0

# Individual Bowling Performances

Bowler	Overs	Runs	Wickets	Average
S Graham	25	56	7	8.00
J Disney	43	82	8	10.25
J Mullen	59	153	14	10.93
N Barnfield	117	267	14	19.07
M Crompton	9	20	1	20.00
D Morrison	93	261	13	20.08
P Rogers	16	64	3	21.33
D Parker	52	157	7	22.43
S Denton	32	117	5	23.40
B Keys	106	358	10	35.80
M Parker	11	3'6	1	36.00
G Peters	36	159	3	53.00
L Gray	41	169	3	56.33
A Moore	9	30	0	0.00
B McClure	6	13	0 ·	0.00
G Leonard	9	19	0	0.00
C Harper	9	43	0	0.00
A Bowes	11	71	0	0.00
J Morgan	7	41	0	0.00
P Green	5	23	0	0.00
B McAndrew	2	13	0	0.00
A Carberry	1	6	0	0.00
W Peters	1	8	0	0.00

## A3 GRADE CAPTAIN'S REPORT

Well, what a season it was. We started well winning a few including an outright victory against Westwood. Towards Christmas we lost Brett Keys and a number of other players due to promotion or injury. Although we did not win a game after the Christmas break, a lot of heart and promise was shown by the younger players. I would like to thank a number of the older players for their help during the season including Murray (Scud) Parker, Chris Harper and Graham Brookman.

## A few of the highlights included:

- \* A five over spell of fast bowling by Graham Brookman
- \* Trevor Tormey taking on the entire Scoresby Cricket Club
- \* Brett Cottle thinking he was a spin bowler
- \* Mick Crompton (no more explanation is needed)
- \* My own form with the bat after being promoted to opener from No. 11.
- \* Gary Grace's speed between the wickets
- \* Paul Green using his back instead of a bat against Sth Ringwood
- \* Paul Green being bowled by a rank full toss after ducking under it
- \* Justin Morgan's bowling towards the end of the season
- \* Chris Harper's great bowling spells
- \* "Scud" Parker's performance at the Senior Players Night
- \* Jibber for his performances at afternoon tea
- \* Graham Brookman yelling at the ball as he was chasing it towards the fence
- \* The effort put in by all the junior players

I believe that if we can have a settled side next season, the Thirds will be a side to contend with.

Once more, I would like to thank all of the players for their support during the season.

John Nightingale

## A3 GRADE TEAM RESULTS

Captain B Keys, C Harper, J Nightingale

# Summary of Matches:

v.	Chirnside Park	10/84	Templeton	10/188	WON
v.	Westwood	2/31 10/45	Templeton	6/114	WON
٧.	nestwood	10/33	rembrecon	0/114	W 014
٧.	Kilsyth	8/213	Templeton	7/75	DRAWN
٧.	Sth Ringwood	10/135 2/120	Templeton	10/123	LOST
٧.	Wantirna	3/244	Templeton	10/84 1/87	LOST
٧.	Mt Evelyn	10/79 1/35	Templeton	10/160	WON
٧.	Wonga Park	8/250	Templeton	10/122 9/110	LOST
٧.	Montrose	6/193	Templeton	7/94	LOST
v.	Scoresby	5/265	Templeton	7/191	LOST
٧.	Wantirna Sth	10/195	Templeton	10/124 2/36	LOST
v.	Nth Ringwood	6/352	Templeton	10/250	LOST

Games Played: 11 Won: 3 Lost: 7 Drawn: 1

Players reaching 50 or over in an innings:

S	Meehan	80	v.	Nth Ringwood
М	Parker	73	v.	Chirnside Park
Α	Bowes	63	v.	Mt Evelyn
A	Carbery	53*	٧.	Wantirna
В	Cottle	51	v.	Wonga Park

Players taking 5 or more wickets in an innings: NIL

Highest Team Total: 10/250 v. Nth Ringwood

Lowest Team Total: 10/84 v. Wantirna

Most Runs: M Parker 165

Most Wickets: J Nightingale 22

Highest Individual Score: S Meehan 80 v Nth Ringwood

Most Wickets In An Innings: T Tormey 4/20 v Mt Evelyn

Fielding Award: R Lambrick 11 votes

# Wicket Partnerships

1st	S	Hardy	-	A	Carbery	77	V	Wantirna
2nd	В	McAndrew	-	R	Lambrick	52	V	Chirnside Park
3rd	s	Meehan	-	R	Jones	81	V	Nth Ringwood
4th	В	Cottle	_	M	Pinwill	40	V	Wonga Park
5th	M	Parker	-	R	Jones	44	V	Montrose
6th	s	Meehan	-	J	Nightingale	40	v	Nth Ringwood
7th	A	Bowes	-	В	Cottle	84	v	Mt Evelyn
8th	С	Harper	-	Т	Tormey	48	v	Scoresby
9th	S	Jones	-	L	Flintoff	26	v	Nth Ringwood
10th	В	Keys	_	С	Harper	34	v	Wantirna

Individual Batting Performances

Ва	atsman	Innings	Not Outs	Highest Score	Runs	Average
R	Lambrick	12	0	33	102	10.2
S	Graham	1	0	4	4	4.0
В	McAndrew	2	0	35	56	28.0
G	Grace	4	1	27	43	14.33
S	Hunt	2	1	28	32	32.0
L	Gray	1	0	4	4	4.0
В	Keys	5	1	12	30	7.5
J	Nightingale	12	2	45	125	12.5
M	Parker	6	0	73	165	27.5
M	Crompton	2	2	16	16	16.0
J	Morgan	. 6	0	10	18	3.0
N	Walker	3	1	2	3	1.5
S	Hardy	3	0	22	40	8.0
Þ	Green	4	0	38	60	15.0
G	Peacock	-	-	-	-	-
С	Harper	8	3	17	42	8.4
A	Bowes	3	0	63	63	21.0
R	Shakes	2	0	47	62	31.0
S	L <mark>o</mark> vett	2	1	0	0	0.0
Α	McLean	8	0	32	67	8.37
M	Pinwill	8	1	32	86	12.29
В	Cottle	7	0	51	148	21.14
M	Carroll	3	0	9	9	3.0
A	Carbery	2	1	53*	66	66.0
L	Flintoff	4	0	14	21	5.25
T	Tormey	2	1	24*	28	28.0
S	Harper	5	4	15*	28	28.0
R	Norton	2	0	9	11	5.5
В	MacLean	4	1	4*	4	1.33
	Ofield	2	1	4	4	4.0
S	Jones	4	0	19	42	10.5
R		2	0	39	64	32.0
G	Brookman	4	1	12	24	8.0
S	Meehan	1	0	80	80	80.0

Individual Bowling Performances

Bowler		Overs	Runs	Wickets	Average
B J	Keys Nightingale	61 145	122 444	7 22	17.43 20.19
M	Crompton	21	31	7	4.43
L	Gray	9	24	1	24.00
S	Graham	16	23	4	5.76
М	Parker	14	75	2	37.50
C	Harper	120	455	14	32.50
S	Lovett	26	62	4	15.50
S	Hardy	20	74	3	24.67
A	Bowes	21	86	3	28.67
J	Morgan	17	56	2	28.00
P	Green	3	15	ī	15.00
R	Shakes	2	15	0	0.00
В	Cottle	14	85	i	85.00
М	Carroll	29	68	4	17.00
S	Harper	35	138	5	27.60
T	Tormey	30	98	6	16.33
L	Flintoff	18	61	2	30.50
G	Ofield	8	45	0	0.00
S	Jones	7	47	0	0.00
R	Jones	4	18	0	0.00
R	Lambrick		25	0	0.00
М	Pinwill	5 5 5	4 4	ĺ	44.00
G	Brookman	5	44	0	0.00

#### A4 GRADE CAPTAIN'S REPORT

In a year in which 34 players represented the Club at this level consistency proved to be a problem.

Our players included 16 juniors, many of whom had never played senior cricket before. With some further nurturing at a level at where they can gain confidence and mature without undue pressure, many of these junior players will contribute to the Club for many years to come.

There were a number of notable performances during the year with a century from Ross Lambrick and five wicket hauls to Trevor Tormey, Mark Carroll, Simon Hunt and Chris Stevens.

There were other bolting performances which gave an indication of the potential of the younger players with Greg Peacock, Matthew Pinwill, Danny Lear, Glenn Barnfield, Simon Hunt and Matthew Walker all making valuable contributions at various times.

Congratulations to the trophy winners and to all the players who helped in making this a very enjoyable season. Also thanks to our scorers Mike Peacock and Nathan Small.

NEVILLE WALKER

Captain

#### A4 GRADE TEAM RESULTS

Captain

N Walker

# Summary of Matches:

v.	Chirnside Park	10/95 10/91	Templeton	10/98	WON
v.	Bye				
v.	Kilsyth	7/134	Templeton	10/120	LOST
٧.	Sth Ringwood	10/88 0/49	Templeton	10/225	WON
v.	Wantirna	10/132	Templeton	9/326	WON
v.	Mt Evelyn	10/280	Templeton	10/143	LOST
		4/198			
٧.	Wonga Park	10/209	Templeton	10/202	LOST
v.	Montrose	8/201	Templeton	10/139	LOST
v.	Scoresby	10/123	Templeton	5/130	WON
٧.	Wantirna Sth	9/288	Templeton	10/73 5/61	LOST
v.	Nth Ringwood	10/301	Templeton	9/270	LOST

Games Played: 10 Won: 4 Lost: 6 Drawn: Nil

Players reaching 50 or over in an innings: R Lambrick 109 Wantirna v. M Pinwill 77 v. Wantirna M Carroll 60 Sth Ringwood v. N Walker 59 Nth Ringwood ٧. N Walker 56 ٧. Mt Evelyn

Players taking 5 or more wickets in an innings:
T Tormey 5/36 v. Chirnside Park
M Carroll 5/38 v. Scoresby
S Hunt 5/39 v. Montrose
C Stevens 5/74 v. Nth Ringwood

Highest Team Total: 9/326 v. Wantirna

Lowest Team Total: 10/73 v. Wantirna Sth

Most Runs: N Walker 178

Most Wickets: T Tormey 21

Highest Individual Score: R Lambrick 109 v Wantirna

Most Wickets In An Innings: T Tormey 5/36 v Chirnside Park

M Carroll 5/38 v Scoresby S Hunt 5/39 v Montrose

C Stevens 5/74 v Nth Ringwood

Fielding Award: D Lear 7 votes

# Wicket Partnerships

1st	R Lambrick	_	R Norton	62	v	Wantirna
2nd	R Lambrick	-	M Pinwill	152	v	Wantirna
3rd	N Walker	-	G Peacock	33	v	Mt Evelyn
4th	G Brookman	-	G Peacock	41	V	Wantirna
5th	D Lear	-	M Walker	83	v	Nth Ringwood
6th	T Tormey	-	M Carroll	35	v	Sth Ringwood
7th	M Carroll	-	G Peacock	38	v	Kilsyth
8th	M Carroll	-	G Barnfield	61	v	Sth Ringwood
9th	D Lear	-	R Jones	48	v	Wonga Park

10th G Ofield - S Johnston 36 v Nth Ringwood

Individual Batting Performances

					Highest		
Ва	atsman	Innings	Not	Outs	Score	Runs	Average
G	Brookman	6		0	24	54	9.0
М	Carroll	8		0	60	138	17.25
A	Bowes	1		0	16	16	16.0
	McLean	2		Ö	5	9	4.5
G	Peacock	5		0	42	94	18.8
S	Lovett	1		0	3	3	3.0
N	Walker	8		0	59	178	22.25
T	Tormey	5		0	27	57	11.4
M	Pinwill	3		0	77	86	28.6
D	Lear	7		3	45	155	38.75
G	Barnfield	. 7		0	37	83	11.8
В	Cottle	2		0	13	21	10.5
R	Norton	6		0	20	78	13.0
D	Leonard	2		0	4	6	3.0
A	Gregor	4		3	3*	6	6.0
L	Small	7		1	8	21	3.5
D	Hurford	3		3	23	43	21.5
В	McAndrew	1		0	46	46	46.0
R	Lambrick	2		0	109	119	59.5
L	Flintoff	1		0	4	4	4.0
S	Harper	1		0	0	0	0.0
M	Walker	6		1	38	106	21.2
M	Lambrick	2		0	4	4	2.0
G	Lear	5		1	34	58	14.5
S	Jones	1		0	2	2	2.0
S	Goodman	1		0	10	10	10.0
S	Hunt	2		0	36	45	22.25
R		1		1	38*	38	38.0
G	Ofield	3		2	22*	24	24.0
M	Maynard	2		0	17	28	14.0
G	Grace	3		0	33	35	11.67
C	Stevens	3		1	2*	2	1.0
C		1		0	13	13	13.0
S	Johnston	1		1	10*	10	10.0

Individual Bowling Performances

В	owler	Overs	Runs	Wickets	Average
M		99	324	19	17.05
T	Tormey	111	241	21	11.47
S	Lovett	21	37	4	9.25
G	Barnfield	9	58	2	29.00
M	Pinwill	13	57	. <b>3</b>	19.00
A	McLean	5	19	0	0.00
D	Lear	79	272	13	20.90
R	Norton	27	133	2	66.50
В	Cottle	3	8	0	0.00
D	Leonard	1	5	1	5.00
L	Small	66	264	11	24.00
G	Brookman	2 3	14	0	0.00
Α	Gregor		20	0	0.00
L	Flintoff	20	54	4	13.50
S	Harper	12	18	1	18.00
M	Walker	6	37	0	0.00
N	Walker	13	72	2	36.00
M	Lambrick	4	26	0	0.00
G	Peacock	4	21	1	21.00
S	Jones	19	47	4	11.25
R	Jones	4	20	0	0.00
R	Lambrick	5	13	0	0.00
G	Ofield	16	87	3	29.00
S	Hunt	10	53	6	8.80
С	Stevens	21	103	5	20.60

#### A5 GRADE REPORT

1990/91 SEASON THE G"E"RIATRICS

After brilliantly and deservably making the 89/90 finals, the geriatric "G"s were lifted a grade into real cricket playing as the Club's fifth team rather than as a sixths combination. Unfortunately, due to a season marked with work commitments, terrible umpiring decisions by the opposition, our balls going out of shape at the wrong time, injuries, harrassment and undue pressure from Bay 13 saw the "gerries" finish at the wrong end of the ladder at the end of the season. It is totally fallacious and a slanderous untruth that we just were not good enough and just couldn't "cut it" in real cricket - we unreservedly reject that the competition was just too good!!! The team to a man believe to this day that "we was robbed" - in every match we lost - and that as expounded by the team motivator "Aligator Winnett" it was more to the point that "THE BOYS JUST DID NOT REACH THEIR FULL POTENTIAL". Whatever the reason, the fun and comraderie that has been the tradition in this team continued to provide the Club with necessary funds and the families and players with a reason to live through the trials and tribulations of another recessed Melbourne winter.

The team's high points can be summed up in the following:

- \* Ian Wood's 6 wicket haul against Nth. Ringwood.
- \* Wayne Farrell's continuing century making efforts.
- \* Tim Norton's great 92 not out against Sth. Ringwood.
- \* Glenn Morrison's consistent bowling feats.
- \* Ron Lovett's final batting stint of 102 not out to finish his illustrious career with the sixths.

In conclusion "the retiring" (and some would say the "very retiring" and others would say "not before time - he's too old") team manager; yes it is true the body has caved in; would like to express sincere thanks to "Lozza" and "the Admiral" for their assistance in the past season as work commitments only allowed me to play half the matches and those gentlemen with the assistance of the whole team managed to organise the team most expertly.

Another fantastic year had by all and continued strength to the Club and all who will be lining up to play this wonderful game called cricket next season.

R C LOVETT
Honorary Team Manager (RETIRED)
The Gerries

## A5 GRADE TEAM RESULTS

Captain K Maynard Vice Captain I Winnett Team Manager R Lovett

# Summary of Matches:

v.	Wantirna Sth	10/134	Templeton	10/115	LOST
v.	Scoresby	( FORFEIT	TO TEMPLETON	)	
v.	Montrose	10/120	Templeton	10/100	LOST
v.	Nth Ringwood	8/421	Templeton	10/136	LOST
				3/122	
٧.	Kilsyth	10/163	Templeton	10/223	WON
v.	Wantirna	6/347	Templeton	8/230	LOST
v.	Sth Ringwood	7/392	Templeton	6/314	LOST
v.	Chirnside Park	( FORFEIT	TO TEMPLETON	)	
v.	Wonga Park	10/209	Templeton	10/143	LOST
v.	Wantirna Sth	8/296	Templeton	10/217	LOST
v.	Scoresby	10/247	Templeton	4/357	WON
	_	5/171	-		

Games Played: 11 Won: 4 Lost: 7 Drawn: Nil

Players reaching	50 or over	in an	innings:
W Farrell	104*	v.	Scoresby
W Farrell	101	V.	Wantirna
W Farrell	66	v.	Kilsyth
W Farrell	66	v.	Wantirna Sth
R Lovett	102*	v.	Scoresby
T Norton	92*	v.	Sth Ringwood
I Wood	51	٧.	Sth Ringwood

Players taking 5 or more wickets in an innings: I Wood 6/126 v. Nth Ringwood B Moody 5/93 v. Wonga Park

Highest Team Total: 4/357 v. Scoresby

Lowest Team Total: 10/100 v. Montrose

Most Runs: W Farrell 396

Most Wickets: G Morrison 18

Highest Individual Score: W Farrell 104\* v Scoresby

Most Wickets In An Innings: I Wood 6/126 v Nth Ringwood

Fielding Award: G Morrison 9 votes

# Wicket Partnerships

1st	H Norton	-	I	Wood	104	v	Sth Ringwood
2nd	K Maynard	-	W	Farrell	6 4	v	Scoresby
3rd	R Lovett	-	W	Farrell	63	v	Kilsyth
4th	W Farrell	-	J	Cassidy	142	v	Wantirna
5th	K Maynard	-	Т	Norton	73	v	Sth Ringwood
6th	I Wood	-	T	Norton	88	v	Scoresby
7th	T Norton	-	I	Winnett	61	V	Sth Ringwood
8th	Des McDougal	1-	Т	Norton	28	V	Nth Ringwood
9th	I Winnett	-	D	Snell	15	V	Montrose
10th	T Norton	_	D	Snell	24	v	Nth Ringwood

				Highest		
B	atsman	Innings	Not Outs	Score	Runs	Average
W	Farrell	7	1	104*	396	66.0
R	Lovett	7	2	102*	238	47.6
T	Norton	9	3	92*	246	41.0
I	Wood	9	2	51	196	28.0
Н	Norton	9	0	45	167	18.6
L	Jones	9	4	17*	74	14.8
J	Cassidy	6	0	46	81	13.5
В	Moody	6	0	24	76	12.7
K	Maynard	9	0	31	103	11.4
D	McDougall	5	0	23	50	10.0
I	Winnett	~ 7	3	13*	32	8.0
D	Snell	6	1	11	27	5.4
G	Morrison	7	0	4	10	1.4
Ι	Blakebrough	1	0	1	1	1.0

# Individual Bowling Performances

Bowler	Overs	Runs	Wickets	Average
G Morrison	130	558	18	31.00
T Norton	120	445	14	31.78
I Wood	67	434	11	39.50
R Lovett	1	10	1	10.00
K Maynard	4	27	2	13.50
Des McDougall	43	173	11	15.70
J Cassidy	3	22	1	22.00
I Winnett	1	23	1	23.00
B Moody	51	301	13	23.10
L Jones	55	305	7	43.60
Dan Snell	8	57	1	57.00
H Norton	22	85	1	85.00
D Snell	5	41	0	0.00
W Farrell	2	15	0	0.00

Points awarded as follows - 1 point per run, 15 points each unassisted wicket, 10 points each assisted wicket, 5 points each catch, 5 points each stumping, 5 points each run out, 10 points each throw out.

Name	Batting	Bowling	Fielding	Total
P Bergshoeff	94	245	45	384
M Wood	56	270	25	351
S Graham	162	325	25	512
P Owen	208	0	35	243
J Disney	139	195	30	364
P Rogers	227	105	55	387
J Denton	104	0	60	164
W Peters	239	0	5	244
G Peters	145	45	10	200
C Vorwerk	133	10	20	163
P Parker	161	85	60	306
R Shakes	211	0	40	251
D Morrison	39	225	20	284
A Carbary	230	0	20	250
S Denton	168	85	35	288
H Singh	12	0	10	22
P Baum	5	0	15	20
B McAndrew	273	0	40	267
N Barnfield	46	185	20	251
J Mullen	24	175	15	214
M Parker	234	35	60	329
M Crompton	21	105	5	131
L Gray	54	45	15	114
B Keys	73	200	25	298
P Green	131	10	25	166
B McClure	197	10	45	252
A Moore	25	0	5	30
M Maynard	117	0	25	142
R Jones	115	0	0	115
A Bowes	113	30	15	158
G Leonard	50	0	10	60
G Grace	72	0	0	72
S M <mark>e</mark> ehan	120	0	20	140
J Morgan	37	20	10	67
A Watson	4	0	0	4
A McLean	77	0	10	87
C Harper	42	175	30	247
R Lambrick	221	0	15	236
S Hunt	77	90	10	177
J Nightingale	125	275	5	405
N Walker	181	20	25	226
S Hardy	40	30	15	85
G Peacock	94	10	45	149
S Lovett	3	110	10	123
M Pinwill	172	55	25	252
B Cottle	169	10	40	219
M Carroll	147	275	20	442
L Flintoff	25	70	15	110
T Tormey	85	325	15	425
S Harper	32	65	20	117

R	Norton	89	20	20	129
В	MacLean	4	0	5	9
G	Ofield	28	35	10	73
S	Jones	44	0	10	54
G	Brookman	78	0	20	98
S	Johnston	10	0	0	10
С	Sinclair	13	0	5	18
G	Lear	58	0	15	73
G	Barnfield	83	20	10	113
D	Lear	155	150	35	340
D	Leonard	6	10	10	26
L	Small	21	125	5	151
Α	Gregor	6	0	5	11
М	Walker	106	0	10	116
М	Lambrick	4	0	10	14
L	Jones	74	130	20	224
C	Stevens	2	60	5	67
D	Hurford	43	0	10	53
T	Norton	246	180	35	461
W	Farrell	396	0	5	401
Ι	Wood	196	115	15	326
R	Lovett	238	15	10	263
G	Morrison	10	225	20	255
В	Moody	76	160	10	246
K	Maynard	103	25	70	198
Н	Norton	167	10	10	187
D	es McDougall	50	125	5	180
J	Cassidy	81	15	15	111
Ι	Winnett	32	15	20	67
D	Snell	27	0	10	37
D	an Snell	0	10	10	20
I	Blakebrough	1	0	0	1

## SENIOR TROPHY WINNERS AND SPECIAL AWARDS

A1	Batting: P Owen Bowling: P Bergshoeff Club Champion: P Bergsh Fielding: M Wood		£		runs wickets	Ave: 20.8 Ave: 24.75 384 points
A2	Batting: B McClure Bowling: N Barnfield All Rounder: S Denton Fielding: B Keys				runs wickets	Ave: 27.5 Ave: 19.07 235 points
<b>A</b> 3	Batting: M Parker Bowling: J Nightingale All Rounder: J Nighting Fielding: R Lambrick	gale			runs wickets	Ave: 27.5 Ave: 20.19 405 points
A 4	Batting: D Lear Bowling: T Tormey All Rounder: M Carroll Fielding: D Lear				runs wickets	Ave: 38.75 Ave: 11.47 388 points
	Special Batting Award: R Lambrick 1	.09	v	Wanti:	rna	
<b>A</b> 5	Batting: W Farrell Bowling: G Morrison All Rounder: T Norton Fielding: G Morrison				runs wickets	Ave: 66.0 Ave: 31.0 461 points
	W Farrell 1	01	V	Score: Wanti: Score:	rna	

CLUB AWARD - FOR OUTSTANDING CONTRIBUTION: Murray Parker

PRESIDENT'S TROPHY: Chris Vorwerk

#### SENIOR CLUB RECORDS

ВАТТ	BATTING PARTNERSHIPS									
1st	W	Farrell	-	Н	Norton	338	F	Grade	88/89	Scoresby
2ND	W	Farrell	-	R	Lovett	185	F	Grade	88/89	Scoresby
3RD		Senior Lovett			Wood Caldow	174 174				Johnson Park Croydon Nth
4TH	W	Groenewald		M	Litchfield	218	E	Grade	85/86	Mooroolbark
5 <b>T</b> H		Litchfield Disney				117 117				Wantirna Sth Wantirna
6 <b>TH</b>	В	Moody	-	W	Farrell	201	E	Grade	89/90	Kilsyth
7тн	A	Bowes	-	В	Ferres	112	D	Grade	87/88	S Warrandyte
8 <b>T</b> H	J	Potts	-	I	Wood	114	E	Grade	84/85	Boronia
9тн	С	McPhee	-	P	Owen	113	A1	Grade	87/88	S Warrandyte
10TH	T	Tormey	-	M	Banbury	65	В1	Grade	84/85	Ringwood

Highest Team Total: 1/523 F Grade 88/89 v Scoresby

Lowest Team Total: 10/32 E Grade 87/88 v Wantirna Sth (2nd Inn)

Most Runs In A Season: W Farrell 1025 E Grade 89/90

Most Runs In A Innings: W Farrell 336\* E Grade 89/90 v Scoresby

Most Wickets In A Season: P Bergshoeff 46 B1 Grade 84/85

Most Wickets In A Innings:

J Nightingale 9/38 B2 Grade 83/84 v Ringwood R S L C Mc Phee 9/60 A1 Grade 89/90 v Eastfield

Most Catches In A Season: J Arnel 24 B1 Grade 83/84

Highest Club Champion Points: P Bergshoeff 803 B1 Grade 84/85

#### JUNIOR ADMINISTRATOR'S REPORT

Season 1990/91 proved to be a very successful year for Templeton Cricket Club.

The Club entered six sides into the R.D.C.A. junior competition. Of these sides, four - U16/1, U14/1, U14/3 and U12/1 - made the finals. I am sure that if the U16/3 had been able to field a full side for the entire season they would have been a finals contender as well. The U12/4 side was very inexperienced with only three or four players having had previous competition experience. However, the improvement and enthusiasm shown by all the boys during the season was tremendous and they will be a force in the future.

Of the teams that made the finals, U16/1, U14/3 and U12/1 made the grand final. Unfortunately, U14/1 were "washed out" due to other than wet weather.

The U14/3 played extremely well and were rewarded with the premiership flag. Although giving it their all, U16/1 and U12/1 were not so fortunate - nevertheless WELL DONE BOYS!!!!

Templeton Cricket Club was well represented in combined sides during the season with a number of boys playing in Hatch Shield, Dowling Shield and R.D.C.A. combined sides with great distinction.

We were also well represented at the R.D.C.A. presentation night with the following players being awarded trophies:

- \* Luke Flintoff U16/3 bowling \* Danny Lear U14/1 bowling
- \* Stuart Elkins U14/3 batting and bowling

\* Sam Bates U12/1 bowling

Congratulations to you all.

Another award presented on that night was the Clive Fairbairn Shield for the R.D.C.A. Junior Club Champions - Templeton was the winner.

This award is a very prestigous award. It is based on a points system covering all teams in all divisions. As such, everybody who represented Templeton during the season contributed to the winning of it and so they can all feel very proud - WELL DONE BOYS.

To enable the boys to play cricket it is necessary to have team managers/coaches. To these people falls the responsibility of ensuring that the boys are afforded training facilities, ensuring they have equipment, that the score sheets are done, umpiring and a number of other things are duly done. These people don't just turn up each Saturday and watch; they carry out these responsibilities every week of the season. To these people I extend the sincere thanks of not only myself but all boys who played - you can feel proud of the way your teams performed throughout the season.

To all Mums and Dads who each Saturday arose early to ensure that the boys were at the ground on time and supported the teams - also thank you.

A special thank you must go to those who helped in the running of the teams by laying mats, scoring, transporting and such like.

I would personally like to thank all players for their tremendous efforts throughout the season and wish you all the best for the future and I hope that cricket gives you the pleasure that it has given me over so many years.

Finally, I would like to thank the members of the Executive who assisted me during the season and especially my family for their support and understanding during what was a very busy season.

Congratulations to everyone - a truly great season.

BARRY McCLURE

Junior Admimistrator

### U16/1 TEAM MANAGER'S REPORT

CONGRATULATIONS, and well done, to all the boys who helped Templeton Cricket Club to reach the U16/1 Grand Final. Regrettably, we were outplayed by St. Andrews, and lost.

Our team performance over the season was very solid, with only a couple of lapses in concentration at odd times.

I would like to offer my congratulations to the trophy winners, and to all the boys many thanks for your efforts each week.

To Paul Denton and Mike Peacock I would like to say "Thank You" to both of you for your efforts on match days and at training. Also to all the parents who supported the team throughout the year, your presence was greatly appreciated.

Finally, the strength for the Club will be over the years to come as the U16/1 squad either progress to Seniors or fulfil their final Junior year in 1991/92.

Good luck to you all.

HOWARD NORTON

Team Manager

#### UNDER 16/1 TEAM RESULTS

## Summary of Matches:

<b>v</b> .	Mooroolbark	3/54	Templeton	3/76	WON
v.	Kilsyth	8/132	Templeton	2/200	WON
v.	Ainslie Park	10/97	Templeton	4/160	WON
v.	Sth Croydon	10/123	Templeton	4/141	WON
v.	Nth Ringwood	6/189	Templeton	9/114	LOST
v.	Montrose	7/190	Templeton	8/174	LOST
v.	Lilydale	3/155	Templeton	8/167	WON
v.	St Andrews	6/115	Templeton	2/120	WON
v.	Warrandyte	10/47 10/121	Templeton	2/134 1/37	МОМ
v.	Nth Croydon	10/105	Templeton	8/113	WON
v.	Croydon United	9/206	Templeton	1/234	WON
v.	Ainslie Park	10/120	Templeton	1/123	WON
٧.	St Andrews	7/163	Templeton	10/146	LOST

Games Played: 13 Won: 10 Lost: 3 Drawn: Nil

Players reaching 50 or over in an innings: C Vorwerk 79ret v. Kilsyth v. Warrandyte
v. Ainslie Park
v. Croydon United C Vorwerk 59 C Vorwerk 56\* C Vorwerk 50\* R Lambrick 78ret v. Croydon United R Lambrick 53 v. St Andrews S Denton 75ret v. Kilsyth S Denton 62\* v. Sth Croydon S Denton 50\* Warrandyte v.

Players taking 5 or more wickets in an innings:

J Morgan 5/16 v. Warrandyte
S Hunt 5/17 v. Sth Croydon
R Lambrick 5/22 v. Nth Croydon
L Flintoff 5/34 v. Croydon United

Highest Team Total:

1/234 v. Croydon United

Lowest Team Total:

3/76 v. Mooroolbark

Most Runs:

C Vorwerk

490

Most Wickets:

S Denton

23

Highest Individual Score: C Vorwerk 79\* v Kilsyth

Most Wickets In An Innings:

J Morgan

5/16 v Warrandyte

S Hunt

5/17 v Sth Croydon

R Lambrick 5/22 v Nth Croydon

L Flintoff 5/34 v Croydon United

Fielding Award:

R Lambrick

#### Wicket Partnerships

lst	R Lambrick	_	G Peacock	79	V	Croydon United
2nd	S Denton	-	C Vorwerk	112	v	Warrandyte
3rd	C Vorwerk	-	S Denton	85	v	Sth Croydon
4th	S Denton	-	S Hunt	28	v	Ainslie Park
5th	S Hunt	_	A McLean	51	v	Lilydale
6th	M Pinwill	-	R Lambrick	24	v	Nth Ringwood
7th	M Pinwill	-	J Morgan	49	v	Montrose
8th	R Norton	-	M Pinwill	22	V	Lilydale
9th	M Pinwill	-	R Norton	5	v	Nth Croydon

10th R Norton - B MacLean 12 v St Andrews

			Highest		
Batsman	Innings	Not Outs	Score	Runs	Average
G Peacock	11	1	25	93	9.3
R Lambrick	14	4	78*	300	30.0
C Vorwerk	14	6	79*	490	61.25
S Denton	12	5	75 <b>*</b>	413	59.0
S Hunt	7	3	19	35	8.75
A McLean	5	1	45	81	20.25
M Pinwill	5	1	34	74	18.5
R Norton	6	1	17	34	6.8
B MacLean	5	5	5*	14	14.0
D Leonard	1	0	1	1	1.0
J Morgan	7	0	32	86	12.29
L Flintoff	4	1	16	36	12.0

## Individual Bowling Performances

В	owler	Overs	Runs	Wickets	Average
S	Denton Pinwill	150 69	319 242	23	13.87
R	Lambrick	98	296	1.9	15.58
J S		124 51	351 166	20 8	17.55 20.75
	Norton	10	28	2	14.00
В	Vorwerk MacLean	19 1	56 9	0	56.00 0.00
A L	McLean Flintoff	13 54	47 188	5 14	9.40 13.43

## Individual Match Points

Points awarded as follows - 1 point per run, 15 points each unassisted wicket, 10 points each assisted wicket, 5 points each catch, 5 points each stumping, 5 points each run out, 10 points each throw out.

Name	Batting	Bowling	Fielding	Total
S Denton	413	295	25	733
G Peacock	93	0	50	143
R Lambrick	300	240	10	550
C Vorwerk	490	15	25	530
S Hunt	35	85	35	155
A McLean	81	65	20	166
M Pinwill	74	85	35	194
R Norton	34	20	10	64
B MacLean	14	0	15 ·	29
D Leonard	1	0	5	6
J Morgan	86	245	25	356
L Flintoff	36	165	15	216
G Barnfield	0	0	10	10

#### U16/3 TEAM MANAGER'S REPORT

Although we struggled throughout the season to field a full team because of a shortage of players ( regularly fielding two or three players short ) the boys fought hard and were very unlucky to lose several games by only a few runs.

Overall, we could see many positive aspects during the season. Several players were expected to perform EVERY MATCH, and quite often did so.

All players had opportunities to bat and bowl because of our inability to field full sides, therefore each player improved their skills during the season.

Special thanks to Ian Lambrick for scoring and to John Sinclair for general assistance and supply of coffee during morning teabreaks.

Congratulations to the individual trophy winners. We hope to see all players next season and the Club can look forward to fielding competitive teams in this grade.

NORM BARNFIELD

NEVILLE WALKER

Team Managers

#### UNDER 16/3 TEAM RESULTS

## Summary of Matches:

v.	Wantirna	10/54	Templeton	10/51	LOST
٧.	Ainslie Park	10/45	Templeton	10/84 7/64	WON
v.	Nth Ringwood	10/140	Templeton	5/59	DRAWN
v.	Wantirna	10/120	Templeton	6/117	LOST
٧.	Mt Evelyn	10/26 10/130	Templeton	5/183	WON
v.	St Andrews	9/213	Templeton	10/103	LOST
٧.	Parkwood	10/156	Templeton	10/58 1/35	LOST
v.	Kilsyth	7/109	Templeton	4/102	LOST
v.	Nth Ringwood	6/190	Templeton	6/124	LOST
٧.	Ainslie Park	10/213	Templeton	5/251	WON
v.	Wantirna	6/140	Templeton	8/117	LOST

Games Played: 11 Won: 3 Lost: 7 Drawn: 1

Players reaching 50 or over in an innings: L Flintoff 68 v. St Andrews C Leembruggen 53ret Nth Ringwood ٧. G Barnfield 52ret v. Mt Evelyn G Barnfield 52ret v. Ainslie Park C Sinclair 52ret v. Ainslie Park

Players taking 5 or more wickets in an innings: C Sinclair 5/23 v. St Andrews

Highest Team Total: 5/251 v. Ainslie Park

Lowest Team Total: 10/51 v. Wantirna

Most Runs: G Barnfield 260

Most Wickets: L Small 24

Highest Individual Score: L Flintoff 68 v St Andrews

Most Wickets In An Innings: C Sinclair 5/23 v St Andrews

Fielding Award: C Leembruggen

## Wicket Partnerships

1st M Walker - C Sinclair 41 v Kilsyth

2nd C Leembruggen- J Warton 36 v Nth Ringwood

3rd C Leembruggen- C Sinclair 93 v Ainslie Park

4th G Barnfield - L Small 64 v Ainslie Park

5th G Barnfield - L Small 61 v Wantirna

6th G Barnfield - C Leembruggen 86 v Mt Evelyn

7th G Barnfield - P Fernando 35 v Wantirna

8th L Flintoff - P Fernando 31 v St Andrews

9th

10th

			Highest		
Batsman	Innings	Not Outs	Score	Runs	Average
G Barnfield	11	3	52*	260	32.5
L Flintoff	7	0	68	189	27.0
C Leembruggen	13	5	53*	173	21.6
C Sinclair	9	1	52*	132	16.5
A Gregor	1	0	12	12	12.0
D Leonard	9	4	37*	61	12.2
M Walker	11	1	30	113	11.3
M Lambrick	8	4	9*	36	9.0
L Small	10	2	19	67	8.4
J Warton	11	0	19	88	8.0
P Fernando	8	3	18	26	5.2

## Individual Bowling Performances

Воч	wler	Overs	Runs	Wickets	Average
LI	Flintoff	69	111	20	5.55
	Small	101	345	24	14.38
P	Fernando	4	27	1	13.50
J	Warton	37	113	7	16.10
M	Walker	56	194	11	17.60
D I	Leonard	4	18	1	18.00
C	Sinclair	76	192	10	19.20
C	Leembruggen	67	203	10	20.30
M	Lambrick	18	79	1	79.00
G	Barnfield	20	85	1	85.00

## Individual Match Points

Points awarded as follows - 1 point per run, 15 points each unassisted wicket, 10 points each assisted wicket, 5 points each catch, 5 points each stumping, 5 points each run out, 10 points each throw out.

Name	Batting	Bowling	Fielding	Total
L Flintoff	189	280	20	489
G Barnfield	260	15	55	330
C Leembruggen	173	125	60 .	358
C Sinclair	132	170	25	327
M Walker	113	125	45	283
J Warton	88	85	10	183
L Small	67	305	15	387
M Lambrick	36	10	25	71
D Leonard	61	10	15	86
A Gregor	12	0	0	12
P Fernando	26	10	15	51

## U14/1 TEAM MANAGER'S REPORT

A year that started out with so much promise unfortunately ended on a sad note, although it was a great effort by the boys to even make the finals, as most of the year we were playing with one or two players short. Throughout the year every boy contributed to the team in some way which was very pleasing and there were some very memorable moments. I thank the boys for their efforts and congratulate them on their achievements.

All the boys will be going up to Under 16 next year which is a big stepping stone in their cricket career, and a lot of hard work, especially at training, and dedication should see all boys carve out successful futures in the game.

I believe that the Club must take a stance and involve more senior players in the tuition of the younger players coming through the club. The Junior Development Squad is a great idea but there are boys on the fringe of this squad who have great potential but are not getting the assistance they need and deserve. It is impossible for one or two adults to competently coach twenty-five boys every training session. They need help, especially from senior members of the Club.

Many thanks must go to all the mums and dads for getting the boys to all the games on time, looking spick and span. As a team we were always congratulated on our parental attendance at games and I believe this support is an important factor in the team's success.

Many thanks also to Barry McClure for his help, and especially to David Snell and Ian Johnston who, like in previous years, are always there to help. Also to all others who assisted during the year. Special thanks to my wife Irene who always gives me great support.

Congratulations to Terry Buchanan and his boys for winning the U14/3 flag (also thanks for your great help) and commisserations to the other losing finalists. Congratulations also to Craig Johnston, Mathew Jamieson, Danny lear and Mark Freyer who all represented the R.D.C.A. with great honour this season.

Finally, many thanks to all the boys and I wish them great success in the future.

GARY LEAR Team Manager

#### UNDER 14/1 TEAM RESULTS

## Summary of Matches:

v.	Croydon	5/61	Templeton	5/62	WON
v.	Nth Croydon	10/54	Templeton	6/174	WON
v.	Sth Ringwood	10/142	Templeton	5/55	DRAWN
v.	Lilydale	10/116	Templeton	7/122	WON
v.	Kilsyth	9/132	Templeton	1/214	WON
v.	Warrandyte	10/123	Templeton	6/159	WON
v.	Mt. Evelyn	10/103	Templeton	7/209	WON
v.	Chirnside Park	7/194	Templeton	8/174	LOST
v.	Parkwood	7/93	Templeton	7/96	WON
v.	Ainslie Park	10/194	Templeton	10/162	LOST
v.	North Ringwood	8/112	Templeton	3/122	WON
v.	South Ringwood	2/94	Templeton		DRAWN

Games Played: 12 Won: 8 Lost: 2 Drawn: 2

Players reaching 50 or over in an innings:

	•			3
C	Johnston	50*	v.	Croydon North
C	Johnston	50*	v.	Kilsyth
C	Johnston	51*	v.	Mt Evelyn
S	Johnston	51*	v.	Kilsyth
M	Jamieson	50*	v.	Croydon North

Players taking 5 or more wickets in an innings:
D Lear 5/41 v. Ainslie Park
C Johnston 5/25 v. Sth Ringwood

Highest Team Total: 1/214 v. Kilsyth

Lowest Team Total:

5/62 v. Croydon

Most Runs:

C Johnston

295

Most Wickets:

D Lear

24

Highest Individual Score: C Johnston 51\* v Mt Evelyn

S Johnston 51\* v Kilsyth

Most Wickets In An Innings: D Lear

5/41 v Ainslie Park

C Johnston 5/25 v Sth Ringwood

Fielding Award:

C Cartwright

Wicket Partnerships

Due to retirement of many players during the season, it is not possible to accurately state the actual partnerships.

			Highest		
, Batsman	Innings	Not Outs	Score	Runs	Average
C Johnston	11	3	50*	295	36.88
M Jamieson	10	4	52*	209	34.83
D Lear	9	5	48*	118	29.5
S Tasevski	6	3	23*	70	23.33
S Johnston	9	1	51*	177	22.13
D Snell	11	2	33	139	15.44
M Freyer	9	0	34	144	16.0
C Cartwright	8	1	36	103	14.71
T Lundberg	9	2	24	57	8.14
B Wallace	1	1	8	8	8.0
M Forbes	3	1	10	12	6.0
C Crough	1	1	1*	1	1.0

## Individual Bowling Performances

Bowler	Overs	Runs	Wickets	Average
D Lear	80	212	25	8.48
C Johnston	80	178	15	11.87
S Johnston	28	90	7	12.86
S Tasevski	50	134	10	13.40
M Freyer	84	203	13	15.62
D Snell	43	168	9	18.67
T Lundberg	19	60	3	20.00
M Jamieson	88	257	2	128.50
M Forbes	5	4	1	4.00
B Wallace	3	13	0	0.00

## Individual Match Points

Points awarded as follows - 1 point per run, 15 points each unassisted wicket, 10 points each assisted wicket, 5 points each catch, 5 points each stumping, 5 points each run out, 10 points each throw out.

Name	Batting	Bowling	Fielding	Total
C Johnston	295	205	25	525
D Lear	118	300	50	468
M Freyer	144	160	35	339
S Johnston	177	80	25	282
M Jamieson	209	20	40	269
D Snell	139	95	15	249
S Tasevski	70	125	30	225
C Cartwright	103	0	85	188
T Lundberg	57	40	30	127
M Forbes	12	15	0	27
B Wallace	8	0	15	23
C Crough	1	0	0	1

#### U14/3 TEAM MANAGER'S REPORT

The success of the U14/3 team in winning the premiership was truly a team effort. From the start of the season when the side consisted of seven players and lost the first game, the players grew in stature and confidence if not in numbers.

Any successful team needs a good leader, and in Adam Major the team was suitably led. While many people considered Adam should have been playing in the U14/1 side, he helped mould a group of relatively inexperienced players into a premiership team. His ability with the bat and behind the stumps was a key element in the team's success.

Any successful team needs a good opening partnership and in Stuart Elkins and Brendan Wallace we had the best in the competition. Stuart had a marvelous season winning almost every trophy available. His hard hitting batting, fast bowling and fielding was excellent. Brendan's consistency with the bat, his slip fielding and bowling proved a perfect foil to Stuart.

Craig Johnston and Travis Parry also had excellent results with the bat. The bowling was also of a consistently high standard with Stuart, Brendan, Craig, Ben Buchanan and Sheahan Jansz keeping sides to losing scores. During the season all members of the team contributed to its undefeated run after the first game.

In the final series all players performed at such a high level that defeat was never considered except perhaps by the pessimistic coaches! In all my years of cricket I have never seen such a committed and enthusiastic bunch of players - they rightly brought credit to the Club.

I would like to thank Ken Parry for his invaluable assistance in helping coach the side, Mike Elkins for scoring throughout the season, and the loyal group of parents who attended the matches, especially Alan and Rosemary Wallace, Janet Willcocks and Ian Johnston. I would like to especially thank Gary Lear for his help and advice during the year and it was unfortunate that the weather ruined any chance of his team also winning the premiership.

TERRY BUCHANAN

Team Manager

### UNDER 14/3 TEAM RESULTS

## Summary of Matches:

v.	Wantirna	4/69	Templeton	6/60	LOST
v.	Bayswater Park	10/131 3/26	Templeton	9/136	WON
v.	Croydon Hockeyers	3 4/160	Templeton	1/64	DRAWN
٧.	Oxley	10/39 1/39	Templeton	1/106	WON
v.	Kilsyth	10/70 7/14	Templeton	8/145	WON
v.	Chirnside Park	10/13 10/25	Templeton	2/81	WON
v.	Mt. Evelyn	8/27	Templeton	2/156	WON
v.	Croydon United	5/88	Templeton	1/152	WON
v.	Ainslie Park	10/50 10/51	Templeton	5/252	WON
v.	Eastfield	10/93	Templeton	7/210	WON
v.	Croydon	10/129	Templeton	9/160	WON
v.	Croydon Hockeyer	s 7/136	Templeton	10/221	DRAWN
v.	Wantirna	9/135	Templeton	6/136	WON

Games Played: 13 Won: 10 Lost: 1 Drawn: 2

Players reaching 50 or over in an innings:

S Elkins 60 v. Croydon Hockeyers

S Elkins 59\* v. Kilsyth

Players taking 5 or more wickets in an innings: S Elkins 6/5 v. Chirnside Park Sheran Jansz 5/4 v. Chirnside Park B Wallace 5/27 v. Wantirna

Highest Team Total: 5/252 v. Ainslie Park

Lowest Team Total:

6/60 v. Wantirna Sth

Most Runs:

S Elkins

448

Most Wickets:

S Elkins

27

Highest Individual Score: S Elkins

60 v Croydon Hockeyers

Most Wickets In An Innings: S Elkins 6/5 v Chirnside Park

Fielding Award:

B Buchanan

Wicket Partnerships

Due to retirement of many players during the season, it is not possible to accurately state the actual partnerships.

			Highest		
Batsman	Innings	Not Outs	Score	Runs	Average
S Elkins	13	7	60	448	74.67
B Wallace	12	6	46*	326	54.33
A Major	13	5	46*	280	35.0
C Johnston	9	4	47*	174	34.8
T Parry	10	4	29*	140	23.33
S Johnston	1	0	20	20	20.0
L Edwards	4	2	8 *	21	10.5
R Willcocks	8	0	16	69	8.62
B Buchanan	6	1	17	36	7.2
Sh Jansz	7	1	16	39	6.5
S Tasevski	<u> </u>	0	5	5	5.0
St Jansz	7	2	13*	24	4.8
C Crough	6	0	16	22	3.67
P Perryman	1	0	2	2	2.0
J Dimou	1	1	22*	22	22.0
M Forbes	1	1	0 *	0	0.0

# Individual Bowling Performances

Bowler	Overs	Runs	Wickets	Average
L Edwards	2	13	2	6.50
S Elkins	111	184	27	6.81
T Lundberg	8	21	3	7.00
Sh Jansz	79	158	21	7.52
B Wallace	59	153	16	9.56
B Buchanan	75	205	21	9.76
C Johnston	69	161	15	10.73
C Cro <b>ve</b> h	23	57	5	11.40
T Parrý	8	26	1	26.00
St Jansz	37	107	4	26.75
A Major	20	40	1	40.00
R Willcocks	7	26	0	0.00
S Tasevski	4	14	0	0.00
S Johnston	6	11	0	0.00
M Forbes	4	9	0	0.00

## Individual Match Points

Points awarded as follows - 1 point per run, 15 points each unassisted wicket, 10 points each assisted wicket, 5 points each catch, 5 points each stumping, 5 points each run out, 10 points each throw out.

Name	Batting	Bowling	Fielding	Total
S Elkins	448	385	65	898
B Wallace	326	205	55	586
A Major	280	15	60	355
C Johnston	174	200	25	399
T Parry	140	10	10	160
S Johnston	20	0	0	20
L Edwards	21	25	0	46
R Willcocks	69	0	40	109
B Buchanan	36	270	30	336
Sh Jansz	39	250	45	334
S Tasevski	5	0	5	10
St Jansz	24	55	15	94
C Crough	22	65	0	87
P Perryman	2	0	0	2
J Dimou	22	0	10	32
M Forbes	0	0	0	0
T L <mark>u</mark> ndberg	0	45	0	45

#### U12/1 TEAM MANAGER'S REPORT

The U12/1's had a truly wonderful season. One short of the winners' circle. There were many excellent individual performances during the season but none more exciting than Sam Bates effort of 4/16 in the downpour during the Semi Final.

To lose your opening bowler and one of your best batsmen in tandem is not the ideal way to start the run home to the finals, but it happened.

The loss of Murray and Grant Creed was quite a shock to us all. This loss however drew out the very best from all those who remained.

The likes of Luke Bowyer, Luke Hazell, Paul Taylor, Adrian Crough, Michael Jamieson, Andrew Cassidy, Neil Thompson, James Pitcaithley, Sam Bates and Stewart Simpson combined their exceptional individual talents to form a top junior team.

On top of this I was lucky enough to have a captain of exceptional capacity in James Clyne. His 249 runs (including four not outs) combined with his 11 wickets and spirited leadership promises much for his future cricket career.

Finally I wish to thank my support team. In particular, I must thank Rob Simpson who acted as scorer for the team this season. Rob, like his son Stewart, just got better and more confident as the season progressed. My very special thanks to Luke's Grandpa and dad, Sue and John Jamieson, who provided the constant encouragement to me when times got tough and the stalwart group of parents who provided the necessary transport on Saturday mornings' when sleep seemed so natural.

Finally to Barry McClure. Many thanks for your efforts. I doubt we would have made it without your contribution.

JOHN CASSIDY

Team Manager

## UNDER 12/1 TEAM RESULTS

## Summary of Matches:

v.	Ainslie Park	5/58	Templeton	7/74	WON
v.	Parkwood	5/127	Templeton	8/108	LOST
v.	Warrandyte	10/142	Templeton	10/114	LOST
٧.	Nth Ringwood	10/65	Templeton	10/113	WON
v.	Chirnside Park	10/108 2/39	Templeton	6/214	WON
٧.	Nth Croydon	10/99 4/45	Templeton	8/268	WON
v.	Croydon	9/90	Templeton	6/104	WON
v.	Mt Evelyn	9/171	Templeton	10/153	LOST
v.	Wantirna	10/97	Templeton	7/174	WON
v.	Mt Evelyn	6/64	Templeton	6/154	WON
v.	Parkwood	8/186	Templeton	10/119	LOST

Games Played: 11 Won: 7 Lost: 4 Drawn: Nil

Players reaching 50 or over in an innings: M Creed 70\* v. Nth Croydon

J Clyne 52 v. Nth Croydon L Hazell 51\* v. Nth Croydon

Players taking 5 or more wickets in an innings: Nil

Highest Team Total: 8/268 v. Nth Croydon

Lowest Team Total: 7/74 v. Ainslie Park

Most Runs: J Clyne 249

Most Wickets: S Bates 23

Highest Individual Score: M Creed 70\* v Nth Croydon

Most Wickets In An Innings: S Bates 4/16 v Mt Evelyn

4/36 v Parkwood

Fielding Award: S Simpson

Wicket Partnerships

Due to retirement of many players during the season, it is not possible to accurately state the actual partnerships.

			Highest		
Batsman	Innings	Not Outs	Score	Runs	Average
N Thompson	11	2	27*	106	11.7
G Creed	6	1	33	107	20.1
M Creed	6	2	70*	133	33.1
J Clyne	11	4	52	249	35.4
L Bowyer	10	1	10	27	2.7
S Bates	10	2	32*	136	17.3
A Cassidy	11	1	19	91	9.1
P Richardson	1	0	0	0	0.0
P Taylor	11	3	31*	124	15.4
M Jamieson	9	2	30*	59	8.3
J Pitcaithley	8	3	22*	81	16.1
S Simpson	9	1	10	46	5.6
L Hazell	6	2	51*	124	31.0
A Crough	4	1	17*	28	9.1

# Individual Bowling Performances

Bowler	Overs	Runs	Wickets	Average
M Creed	37	96	8	12.00
S Bates	74	184	23	8.00
J Clyne	62	180	11	16.40
A Cassidy	54	174	7	24.60
J Pitcaithely	39	134	7	19.10
L Bowyer	40	90	6	15.00
P Taylor	52	151	9	16.70
M Jamieson	41	106	8	13.20
N Thompson	21	45	1	45.00
A Crough	8	22	1	22.00
G Creed	18	52	4	12.40
L Hazell	1	2	0	0.00

#### U12/4 TEAM MANAGER'S REPORT

The start of the season saw the return of three boys to this team who had played the previous season, the remaining boys having moved onto the U12/1's.

The remainder of the boys in U12/4 being new to competition cricket.

By the end of the season, there were 15 boys vying for a place in the side which obviously you can't fit into 11 positions.

As a result boys basically had to "take turns" to bat. Wherever possible those who did not bat were given the opportunity to bowl. All players were given the opportunity to field.

We did not make the finals. In fact, we did not win all that many games but the way the boys tried and the improvement they showed more than compensated.

Even when things were not going our way there was tremendous team spirit.

The main aim of providing cricket to children of such tender age is to allow them to learn the rudiments of the game, whilst allowing them to enjoy participating in a team environment.

The work involved each Saturday morning to ensure that the games started on time would not be possible without the support of the parents. It is not easy to arise each Saturday morning in time to have the boys up at the ground by the appointed time so, on behalf of the boys and myself, thanks Mum and Dad.

Also to those parents who assisted in laying mats, putting out the "hats" and other things my sincere thanks.

I would also like to thank Earl Sakareassen for the way he willingly jumped in and helped me when I needed someone to score and umpire - many thanks Earl.

Finally, a big thank you to the boys - to look after fifteen boys under 12 is not normally an easy task. However, these boys made the job a pleasure. Well done boys and I will see you next season.

BARRY McCLURE

Team Manager

## UNDER 12/4 TEAM RESULTS

## Summary of Matches:

٧.	Warrandyte	2/67	Templeton	3/61	LOST
٧.	Parkwood	3/162	Templeton	10/35 6/29	LOST
v.	Wantirna	7/72 4/30	Templeton	9/120	WON
v.	Mooroolbark	10/109	Templeton	10/70	LOST
v.	Ringwood	4/166	Templeton	10/67	LOST
v.	Mt Evelyn	7/91	Templeton	10/84	LOST
٧.	Ainslie Park	7/124	Templeton	5/93	LOST
v.	Parkwood	4/288	Templeton	10/125	LOST
v.	Wantirna	10/144	Templeton	3/125	LOST

Games Played: 9 Won: 1 Lost: 8 Drawn: Nil

Players reaching 50 or over in an innings: Nil

Players taking 5 or more wickets in an innings: Nil

Highest Team Total: 10/125 v. Parkwood 3/125 v. Wantirna

Lowest Team Total: 10/35 v. Parkwood

Most Runs: P Perryman 111

Most Wickets: A Sakarreasen 9

Highest Individual Score: P Perryman 32\* v Wantirna

Most Wickets In An Innings: A Sakarreasen 3/8 v. Wantirna

Fielding Award: A Sakarreasen

Wicket Partnerships

Due to retirement of many players during the season, it is not possible to accurately state the actual partnerships.

			Highest		
Batsman	Innings	Not Outs	Score	Runs	Average
A Crough	3	1	31*	46	23.0
S McClure	9	4	31*	102	20.4
P Perryman	9	2	32*	111	15.86
M Boey	5	2	17	29	9.67
A Golden	6	1	25	45	9.0
R Bunn	6	0	13	31	5.17
M Brown	8	0	15	29	4.14
J Hamilton	8	0	11	30	3.75
A Surrao	5	3	4	7	3.5
K Sinclair	8	2	6 <b>*</b>	13	2.17
A Sakareassen	9	0	5	13	1.44
B Quax	<i>- 1</i> 5	1	3	5	1.25
D Butler	5	2	1	1	0.33
N Walker	6	2	1	1	0.25
P Richardson	3	0	0	0	0.0
J Lott	1	0	0	0	0.0
L Hazell	1	0	0	0	0.0

# Individual Bowling Performances

Вс	owler	Overs	Runs	Wickets	Average
Α	Crough	13	13	1	13.00
Α	Golden	42	103	6	17.17
Α	Sakareassen	53	178	9	19.78
A	Surrao	17	62	3	20.67
J	Lott	11	63	3	21.00
K	Sinclair	9	43	2	21.50
В	Quax	18	103	4	25.75
J	Hamilton	47	167	6	27.83
M	Boey	19	59	2	29.50
M	Brown	33	106	3	35.33
S	McClure	8	36	1	36.00
P	Perryman	38	128	3	42.67
N	Walker	3	18	0	0.00
D	Butler	3	24	0	0.00
R	Bunn	2	3	0	0.00
P	Richardson	9	49	0	0.00
L	Hazell	6	9	0	0.00

#### JUNIOR TROPHY WINNERS AND SPECIAL AWARDS

U16/1 Batting: C Vorwerk	490 runs	Ave: 61.25
Bowling: S Denton	23 wickets	Ave: 13.87
All Rounder: S Denton		733 points
Fielding: R Lambrick		

Special Bowling Award:

R Lambrick 5/22 v Nth Croydon
J Morgan 5/16 v Warrandyte
S Hunt 5/17 v Sth Croydon
L Flintoff 5/34 v Croydon United

U16/3 Batting: G Barnfield 260 runs Ave: 32.5
Bowling: L Flintoff 20 wickets Ave: 5.55
All Rounder: L Flintoff 489 points
Fielding: C Leembruggen

Special Bowling Award:

C Sinclair 5/23 v St Andrews

U14/1 Batting: C Johnston 295 runs Ave: 36.88
Bowling: D Lear 25 wickets Ave: 8.48
All Rounder: C Johnston 525 points
Fielding: C Cartwright

Special Bowling Award:

D Lear 5/41 v Ainslie Park C Johnston 5/25 v Sth Ringwood

U14/3 Batting: S Elkins 449 runs Ave: 74.67
Bowling: S Elkins 27 wickets Ave: 6.81
Club Champion: S Elkins
Fielding: B Buchanan

Special Bowling Award:

Sheran Jansz 5/4 v Chirnside Park (inc Hat Trick)
S Elkins 6/5 v Chirnside Park
B Wallace 5/27 v Wantirna

U12/1 Batting: J Clyne 249 runs Ave: 35.57
Bowling: S Bates 23 wickets Ave: 8.0
All Rounder: S Bates
Fielding: S Simpson 456 points

U12/4 Batting: S McClure 102 runs Ave: 20.4
Bowling: A Golden 6 wickets Ave: 17.17
All Rounder: P Perryman
Fielding: A Sakareassen

JUNIOR CLUBMAN AWARD - Adam Major

## JUNIOR CLUB RECORDS

BATTI	NG P	ARTNER	SHIPS					
1ST	S Me	ehan rtwri	_	M Sne		122 122	U16/1 U12/4	87/88 87/88
2ND	S De	nton	-	C Vor	werk	143	U14/1	88/89
3RD	J Di	sney	-	D Par	ker	133	U16/2	89/90
4 <b>T</b> H	M Pi	nwill	-	R Laml	brick	108	U14/4	87/88
5 <b>T</b> H	G Pe	acock	_	C Vor	werk	141	U14/1	88/89
6тн	G Ba	rnfiel	ld -	C Lee	mbrugge	n 86	U16/3	90/91
7тн	D Hu	rford	-	G Tho	mpson	69	U14/5	86/87
8 <b>T</b> H	C Vc	rwerk	-	M Pin	will	81	U14/1	88/89
9 <b>TH</b>	J Cl	arke	-	C Joh	nston	61	U12/1	87/88
10тн	D Ph	illips	5 -	S Har	per	47	U14/3	85/86
								_
Highe	st 1	ream To	otal:	2/285	U	12/4	86/8	7
Lowes	t Te	am Tot	tal:	10/26	U	16/4	85/8	6
Most	Runs	In A	Seaso	n: C	Vorwerk	490	U1 <mark>6/</mark> 1	90/91
Most	Runs	In A	Innin	gs: C	Vorwer	k 134*	U14/1	88/89
Most	Wick	ets I	n A Se	ason:	S Dent	on 34	U14/1	88/89
Most	Wick		n A In	nings er	: 6/1	U12/4	87/88	
			S Elki	ns	6/5	U14/3	90/91	

Most Catches In A Season: M Jamieson 15 U12/4 87/88

Highest Club Champion Points: S Elkins 898 U14/3 90/91